Theory of Translation
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Linguistic Problems in Arabic/English Translation
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gLearning Outcomes : (wll (e Aty L)
By the end of this lecture, you should be able to
O recognise translation problems at morpheme, word, and above

word levels)
O develop your own strategies to solve such kind of problems.
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ZMain Categories of Translation Problems :
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1. Linguistic problems: cover problems at lexical, grammatical
and Textual levels
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2. Cultural problems: cover a large range of categories such as
Ecology, materials, social organisation, religion, History ,etc..
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gTranslation Problems at Morpheme Level :-
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O A morpheme is_ (a8l cyai) “the minimal formal element
of meaning in language, as distinct from ‘word’”. Take the
following English example: ‘inconceivable’ is written as one word but
consists of three morphemes; in, meaning, ‘not’, conceive meaning
‘think of or imagine’, and able meaning ‘able to be’, fit to be’. A suitable
paraphrase for inconceivable would then be ‘cannot be conceived
/imagined’.
o sbel Al 3 el 4] esliall il 5" ; (MOrpheme) asdosall /1
aly gl 4kl o2 i€ ¢ nconceivable’ 4elS Jial Juw e ¢ 48l e 15 )b e s
(NOt)Y inas N J¥) yuaiall (Lualic) Cilas ) g0 45 (g ) 5S Lgil a& ) sl 5 4alSS
Gl yaill 5 (think of or imagine) duaiy 5l Sy iny s conceive (Gl yaiall 5
A (ye 48 el el 03¢d Sixe ol 5 (able to be) sl o5& ol Sxas able
.( cannot be conceived /imagined = o sai (Rt ¥ A ) & palic

Another example in Arabic: <( Ad ) Y Qs &l el\ )
the Arabic morpheme &l is a very complex one which causes a
very serious translation problem in form and meaning.
absalld £ Agh Y QUKD QD ¢ 1) b r s ad 8 g el A (e AT e
DU 5 Jiso ) ga IV BALY e Sl gall anaal 0 525 (A1) 58 L (o el
(B Aiia JSUie A ety o sall 108 s ¢ L) Jilise o) g0 el 5 Jiiasn b ) 50
() e curll ple 3 35 Cojadl ol iles () L il 5 SR80 dimia e en S

0 Some morphemes have grammatical functions such as
marking plurality (funds), gender (manageress) and tense
considered).
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L Others change the class of the word , for instance from verb to
adjective (like: likable), negation (unhappy), etc..
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2Translation Problems at Word Level :-
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O The word is “the smallest unit of language that can be used by

itself.”
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O The written word is (4:siSall GlalSll oy j25) “g sequence of letters

with an orthographic space on either side”.
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0 Non-equivalence at word level means that the target language has
no direct equivalent for a word which occurs in the source text. The type
and level of difficulty in translation at this level depends on the nature of

non-equivalence.
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For example:
Culture specific concepts which can be abstract or concrete as

in the following examples:
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O Abstract: privacy is a very English Concept. Speaker ( of the
House of Common) has no equivalent in Arabic. It is often translated as
the ‘chairman’ which does not reflect the role of the Speaker of the
House of Commons as an independent person who maintains authority
and order in Parliament.
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O A concrete exampleis airing cupboard which is unknown to
Arabic speakers.
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Another example:- JAl Jia
O The source Language word is semantically complex. For example a
single word which consists of a single morpheme can sometimes express
a more complex set of meaning than a whole sentence, for example in
Arabic: ) )
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Another example:- Al Jis

QO Differences in form: there is often no equivalent in the target
language for a particular form in the source text. Certain suffixes and
prefixes which convey propositional and other types of meaning in
English often have no direct equivalents in other languages: For
example: (, retrievable, drinkable, greenish, etc..). Arabic for
instance has no ready made mechanism for producing such forms as
they are often replaced by an appropriate paraphrase , depending on
the meaning they convey (e.g. retrievable as ‘can be retrieved’
and drinkable as ‘suitable for drinking”.

Translation Problems above Word Level :-
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2Translation Problems above Word Level (sile 4aa i JSLia

Lexical patterning can be divided into two main headings:
O Collocation
U Idioms and fixed expressions
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O Acollocation is (LSSl & »3) a seguence of words or terms
that co-occur more often than would be expected by chance. It
is the tendency of certain words to co-occur reqularly in a
given language
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, for example, the English verb ‘ deliver collocates with a number of
nouns, for each of which Arabic uses a different verb. The Arabic
‘dictionary equivalent’ of deliver is yusallim English Arabic

deliver a letter

deliver a speech/lecture (e de sana e S deliver sy Jadl) S
deliver news / a speech/lecture/letter) Jie sazy slaus)

deliver a blow
deliver a verdict
deliver a baby
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2 and fixed expressions :- 4l il +

O Idioms and fixed expressions: are frozen patterns of language
which allow little or no variation in form and in case of idioms, often
carry meanings which cannot be deduced from their individual
components:

el QIR 8 e Y g Al (e sdals e 4 1 A4S et g cilathaall
s o IS LS (e Lgaliiin) (Se) Y (lae Jaad 5 lgha &

(tadl aDle (6l agdla (51,80 + Jrwal)) Luda ¢ dle) 8 Ju) ad il culi o Dlia )
(S e 2 yal)

Q : ‘bury the hatchet’ means ‘to become friendly
again after a disagreement or a quarrel’. ‘pass the buck’ (refuse to
accept responsibility for something)
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U Fixed expression example: ‘as a matter of fact, all the best and
proverbs such as ‘practise what you preach and waste not want not”
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